450
400
350
300
250
200
150
100

50

G

raph X2/ ndf 2.032e+04/ 27
0.6291 + 5.283e-05

p0o

100 200 300 400 500 600 700

G

raph

N
U1 w

=
ul

N
III|IIII|IIII|IIII|IIII|II_

o

o g1
T
I

1 'I
= Ol
I|IIII|IIII|III

'III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I|‘

O_II

PETEEN PEEE B
100 200

P
300

PEFETEN IR BRI A S R
400 500 600 700

Graph X2/ ndf 2.08e+04/ 27
T T PO 0.6272 + 5,015¢-05
450 =
400
350

300
250
200
150
100

50

i

P PRI B
100 200

MEFEN A R
300 400

Graph

P BRI B R
500 600 700

= N
O N 01w

o
ul

)
o1 O
1@

=
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|1

1
=

'IIIIIIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII||‘

O_II

P PRI B
100 200

PEEFES BFEEEE ST ST S R
300 400 500 600 700




